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Mathematical Inequality Questions Overview

Mathematical Inequality Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Mathematical Inequality Questions.

Mathematical Inequality Questions

Direction: Study the following information carefully and answer the given questions: Fourteen persons are sitting in two
parallel rows such that seven persons are sitting in each row. A, B, C, D, E, F, G are sitting in row-1 facing north while P,
Q. R, S, T, U, V are sitting in row-2 facing south. G sits third to the left of A and neither of them sits at an extreme end of
the row. The one faces A sits immediate right to T. Only one person sits between T and Q. The one who faces Q sits third
to the right of E. S sits to the immediate left of V. S neither faces G nor E. D is an immediate neighbour of the one who
faces S. The one who faces C sits fifth to the left of P. B sits third to the left of F. U sits at one of position to the right of R.

Question

What is the position of B with respect to D?

Difficulty : Moderate Average Time: 71 Seconds

Options :
1. Third to the left

2. Second to the left
3. Forth to the left
4. Third to the right

5. Fifth to the right

Solution

The correct answer isoption 3i.e. Forth to theleft
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